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THRET(AF)a—K ITHET(KF)8  #HEH O 1M 2m 3 4® 5S% 6 7m 8 9

10 HAT 153 2 0 1 3 4 0 3 6 0 2
20 fE&LET 150 3 2 2 4 2 3 6 3 2 6
30 @M 230 1 2 2 4 2 4 3 0 4 5
40 SRET 95 0 0 0 0 1 1 0 0 2 2
50 KET—T B 295 1 3 4 2 1 3 2 1 2 2
60 KET=TH 217 2 4 3 3 4 1 8 1 1 7
70 RET=TH 298 1 1 2 3 7 1 0 4 4 2
80 AT IEHET 84 0 4 2 2 1 2 1 1 2 0
90 PN I ET 191 1 1 0 4 1 3 3 1 2 5
100 b ALET 115 0 1 1 2 1 1 2 1 1 3
110 T HT 1128 17 24 29 19 31 26 19 30 30 30
120 ¥X;TAHT 203 4 6 5 5 4 3 3 5 5 4
130 t&FHT 344 3 4 4 2 6 6 2 6 8 5
140 EH[E M7 13 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 305 8 2 7 7 4 8 6 3 5 4
9999 KB XEt 3821 43 54 62 60 69 62 58 62 68 77
510 AETHT B 397 4 2 3 2 1 4 2 4 7 2
520 HpEEMT 117 4 4 1 2 4 1 5 2 0 2
530 /\F&EHET 231 3 1 2 2 2 1 1 1 1 4
540 15 HT 395 3 2 3 3 2 3 7 2 5 2
550 FithET 335 4 4 1 4 4 4 1 4 4 10
560 = ZLHT 96 0 1 1 0 0 0 0 0 0 0
570 EEHT 67 1 2 2 1 3 3 2 1 1 0
580 #rBHET 158 3 1 1 3 1 1 3 1 3 0
590 FriEMT 74 1 0 0 0 0 2 0 1 0 0
600 ZEARET 522 5 1 5 11 3 10 12 12 8 12
610 JEHT 170 0 1 1 3 1 2 1 1 5 2
620 FEBET—T B 2 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 6 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 2570 28 19 20 31 21 31 34 29 34 34
1010 X HT 165 1 1 3 1 4 2 0 5 4 2
1020 Lt FHT 277 3 4 11 6 3 5 9 8 5 3
1030 5 FHT 274 3 9 8 5 10 7 6 6 7 4
1040 75 K HT 474 11 14 10 14 14 12 20 13 10 10
1050 & FHHET 597 16 11 12 10 13 12 11 14 13 14
1060 FH _EHT 509 11 9 20 10 23 17 6 12 12 10
1070 4T/ HET 631 10 16 6 16 6 10 15 9 15 10
1080 & HHET 362 15 10 10 7 7 8 5 8 7 11
1090 BHiEHT 517 9 10 8 9 13 5 18 11 13 15
1100 L BiEHT 532 7 13 14 15 17 13 16 14 14 9
1110 fRIEET 159 2 4 1 1 6 2 8 6 3 2
1120 #Z1E JCHT 82 1 0 0 0 0 0 0 2 1 0
1130 +5&HT 24 0 0 0 0 2 1 0 0 0 1
1140 Fk[RHET 14 0 1 0 0 0 1 0 0 0 0
1150 #/RET—T B 180 0 2 1 3 2 3 4 2 4 3
1160 #EET=TH 221 1 2 0 3 4 1 3 4 7 4
1170 ;& /KHET 166 1 2 0 2 2 1 1 1 2 2
1180 EE&FLHET 219 1 0 3 1 6 2 4 3 5 6
1190 ##F AHT 179 1 8 3 2 5 2 3 1 4 2
1200 XFHET—TH 117 0 0 3 0 2 1 2 2 1 1
1210 XFHEIZTH 168 1 2 0 3 2 2 2 2 6 3
1220 FrHT 144 1 2 3 1 0 0 0 1 2 3
1230 #XHET 163 0 1 3 1 2 1 4 2 3 2
1240 B EHT 144 2 1 0 2 1 3 3 4 1 4
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THRET(AF)a—K ITHET(KF)8 #HEH O 1M 2m 3 4% 5S% 6 7m 8 9

1250 fEEIRT 148 4 1 3 1 2 1 2 1 0 3
1260 JEFh & 42 0 2 0 2 1 1 0 1 0 0
1270 EEHT 160 2 3 1 2 3 0 1 1 0 0
1280 FRAHET 167 0 1 0 0 2 1 1 1 5 2
1290 $RHET 186 0 1 3 1 0 5 2 3 3 4
1300 4 ZEHT 148 0 1 3 2 1 2 1 2 2 3
1310 RJLHET 78 1 1 2 2 1 0 0 0 1 0
9999 K HEMZXET 7247 104 132 131 122 154 121 147 139 150 133
1510 A& _E BT 633 9 11 9 6 11 16 12 14 12 9
1520 HEHTHET 613 5 6 6 11 8 10 11 10 8 12
1530 }EHTHT 305 4 3 2 3 6 6 5 4 7 4
1540 K4EFHT 511 5 8 9 9 6 6 7 9 4 12
9999 FEMNA: X 5 2062 23 28 26 29 31 38 3 37 31 37
2010 EE AT 196 1 4 2 4 1 7 1 3 5 4
2020 % E gl 282 0 3 1 3 5 13 11 6 12 7
2030 E0HT 20 0 0 0 0 0 0 0 0 1 0
2040 ;ET—T H 190 3 1 1 4 2 1 1 5 5 6
2050 BT =T B 188 1 2 2 4 4 2 2 3 2 2
2060 ¥g AT 34 0 0 0 0 0 0 0 0 0 0
2070 FxEBT—TH 223 0 2 7 5 8 5 11 5 7 3
2080 FRET—TH 187 1 3 1 1 2 3 1 2 3 5
2090 THiRAT 1601 19 18 17 17 22 19 34 27 24 26
2100 fhdLHT 224 7 4 6 8 6 6 3 5 10 4
2110 }EWIETET—T B 206 7 1 3 5 7 5 3 11 3 3
2120 HEMIFTETZT B 234 7 6 2 11 4 7 7 7 7 6
9999 £ ERXET 3585 46 44 42 62 61 68 74 74 79 66
2510 FAMEET 1887 39 44 28 33 41 41 35 52 56 46
2520 sk EeHT 1185 25 24 26 26 32 37 35 28 37 32
2530 = /INRHET 364 5 12 15 8 10 9 9 6 2 6
2540 FHi5HT 436 3 3 3 5 5 5 10 3 5 7
2550 ;HHET 207 4 6 1 2 3 1 3 4 10 8
2560 = SHT 867 8 14 10 15 15 13 12 19 12 18
2570 K EHT 84 0 0 1 0 0 1 1 0 2 1
9999 ME R X ET 5030 84 103 84 89 106 107 105 112 124 118
3010 KATHT 941 19 14 17 18 14 23 16 11 10 16
3020 ;BT HT 863 20 12 18 10 11 16 24 16 14 11
3030 L EFHT 689 8 16 6 12 22 14 21 17 16 16
3040 &S _LHET 133 1 0 0 2 0 1 3 1 3 2
3050 THESHHT 2052 57 60 51 69 59 63 45 54 47 53
3060 B THT 467 4 8 4 5 4 6 3 6 4 6
3070 wERERT 437 3 5 6 6 7 5 11 5 11 6
3080 H AT 367 5 9 6 11 7 18 13 16 14 13
3090 HHRERHAT 375 10 8 12 7 7 12 12 13 13 13
3100 EH R FEHET 503 4 11 7 10 11 9 8 8 8 8
3110 EHAILHET 425 5 4 8 5 6 9 5 6 5 6
9999 /\FHERXET 7252 136 147 135 155 148 176 161 153 145 150
3510 27 _FHT 173 1 3 3 1 3 4 0 1 1 4
3520 &R T 337 3 6 3 3 2 7 3 6 5 5
3530 &R THT 891 16 13 16 18 17 27 24 24 25 19
3540 =B KHT 317 2 3 4 6 1 3 2 4 2 6
3550 AEFHT 726 4 9 8 13 9 8 8 15 10 14
3560 = T B HET 282 5 3 3 2 1 0 3 1 4 5
3570 & T AafT 787 16 12 14 10 13 13 14 9 11 8

3580 ¢ LLITHT 552 8 7 7 11 7 10 9 6 4 1



KH24T7IERERBRED—HRIEICLIYNEANZSOH-AA-HTFH
(R3.12.31 IR JATERET & (K=F) Bl il A Ot 52 (55

THRET(AF)a—K ITHHET(KF)8 #HEH O 1M 2m 3m 4% 5S% 6 7m 8m 9

3590 JEMT 19 0 0 0 0 0 1 0 0 0 0
9999 S HKXE 4084 55 56 58 64 53 73 63 66 62 72
4010 41| RET 302 1 2 0 1 2 4 3 2 3 4
4020 {E&HT 75 0 1 1 2 1 1 1 1 0 1
4030 5HT 192 2 5 2 3 1 1 3 3 1 4
4040 = HEAHT 170 1 2 4 0 4 1 3 7 1 5
4050 7K EHT 371 1 2 5 1 7 6 5 5 13 5
4060 E5Z HAT 346 5 6 6 10 5 5 7 4 4 5
4070 JtJRHET 147 4 3 2 6 3 5 2 2 2 4
4080 =;I;HAfT 171 2 2 4 2 2 3 6 4 7 3
4090 FR ek HET 267 3 2 4 5 3 6 1 3 8 4
4100 g FEFOET 113 3 2 0 5 2 3 3 1 2 1
4110 JEFF0ET 115 0 1 2 0 2 2 4 1 6 4
9999 2RI X st 2269 22 28 30 35 32 37 38 33 47 40
4510 EREE—FHET 724 6 4 6 6 4 2 9 6 11 9
4520 EREE — AT 149 1 5 1 0 2 1 2 2 5 0
4530 EREE=ZEHT 161 1 2 2 1 3 4 5 8 4 5
4540 B} EErUZEET 159 2 2 0 4 2 3 0 3 1 2
4550 EREE FFHT 98 1 1 0 0 1 0 1 1 1 1
4560 AREE/EHET 69 1 0 1 1 1 1 4 0 3 1
4570 EREE-HZFHET 115 3 0 0 2 1 1 0 2 1 1
4580 AREE/\ZEHT 70 0 0 0 1 0 2 3 1 2 2
4590 EREE N FEHT 115 1 1 1 2 2 4 0 1 2 3
4600 EREE-+ZEHET 169 1 3 2 1 1 1 2 1 2 1
4610 EREE+—ZHT 162 3 2 2 3 1 2 2 3 0 2
4620 B+ —FET 279 5 8 6 4 2 3 4 0 3 2
9999 ERERXET 2270 25 28 21 25 20 24 32 28 35 29
5010 BRF0H £ HT 156 2 3 3 4 3 3 1 6 1 5
5020 BAF0BAELET 167 0 2 1 3 0 2 0 3 3 2
5030 FRFNREI{—HT 173 3 2 3 1 2 3 2 2 2 5
9999 RRFIRXET 496 5 7 7 8 5 8 3 11 6 12
5510 b RHET 205 0 4 2 3 6 1 6 3 4 0
5520 = AT 538 10 12 8 9 13 12 15 11 5 15
5530 75 = /T 457 7 4 6 3 6 6 5 8 6 8
5540 T EERT 228 0 4 2 2 4 5 2 3 3 3
5550 EEHET 70 0 0 1 0 1 0 1 0 0 1
9999 =R X 5t 1498 17 24 19 17 30 24 29 25 18 27
6010 [EIHAT/MER 77 0 0 1 0 1 2 1 1 3 0
6020 [T 87 2 2 1 1 1 0 0 2 0 1
6030 FEIRT &I 86 0 2 0 1 0 1 0 1 3 1
6040 EiEIFHET 180 2 2 1 4 1 4 2 5 7 3
6050 JI|EHATE 133 1 1 0 0 1 1 1 0 2 0
6060 JI|EHETF 94 2 1 2 3 1 0 1 2 1 0
9999 FEEMRXET 657 7 8 5 9 5 8 5 11 16 5
6510 H X A#EAHT 21 0 0 1 0 1 0 1 1 0 0
6520 HZEAKIEHET 165 2 2 1 1 3 1 0 3 0 4
6530 B E AFTHHET 98 0 1 1 2 0 1 1 1 0 2
6540 B&EALLTHT 154 1 1 1 0 0 0 3 3 0 4
6550 B E A Z NET 81 0 0 0 1 1 0 2 1 0 1
6560 HRAIEILHET 124 1 0 0 2 0 1 0 2 0 0
6570 A=A EgHT 146 1 1 0 1 1 0 0 0 0 0
6580 H&EAEHT 95 1 0 1 3 1 0 0 0 0 0
6590 HZ= ATHET 51 0 1 0 1 0 1 0 1 0 0
6600 B &= AT 88 1 0 1 1 1 1 0 0 1 0
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TBET(KF)a—K TEET(KF)E HMEH o

6610 HEA _LFEHT 44
6620 HZE AT 49
6630 HZE AT FGHET 93
6640 B &= A EitslT 34
6650 B ZASHET 1
6660 HZ A RLHET 50
9999 HEARKKXET 1294
7010 Z B MO E 144
7020 — R AHT 247
7030 = R IRHNET 98
7040 — BT KEFHET 186
7050 — R ¥y H I HET 93
9999 — R&XEt 768
8011 IRAETFEHERLY 58
8012 IR AHTFHERA 119
8013 YR AHTFEER (& 64
8021 IRAHTIZEKLY 79
8022 YR AHETIEKA 5
8023 IR AHTIEKIL 8
8031 YAHETH ALY 139
8032 IRAHTHA A 7
8033 FAHETH AL 16
8041 IR AHTELIRL 62
8042 IR AHTELIRA 26
8043 IR AHTELIR L 18
8044 IR AHTELIRIC 25
8045 YR ABTELIF T 48
8050 i AHTHRA 132
8060 IR AHTFT#E 104
8070 JRABTER 107
8080 MR AETHkHA 42
8090 IR AHTHEE 34
8100 JRAHBTH /1% 18
8110 IRAHTJII 5 39
8120 IR AHTER" 68
8130 YR AHETH L 67
8140 IRAHBTHFRKT 101
8150 IR ABTEFRK L 80
9999 AKX 5T 1466
9010 FTHTAKEH 534
9020 FTHTEE R 322
9030 +THTHEH 971
9040 FTHTHEIH 1095
9999 FT X5t 2922
9110 BET T HIE 468
9120 SFETH L 227
9130 $EHTH & 114
9140 SERT T4 335
9150 $RHT L§% 444
9160 SRETERHT 635
9170 $RATNEA 843
9180 SEMETEE 534
9190 fRHETZ 0O 181

9200 $EHTEFIF 165
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9210 $EHET = H 310 3 2 4 6 5 7 4 2 8 4
9220 $EHT 7 H 483 8 5 11 8 12 10 12 12 12 11
9230 $EHTE M 559 7 10 6 11 13 12 9 16 9 15
9240 $EHETIEE 217 2 3 5 4 4 6 4 1 6 5
9250 % HT At #r b 434 4 6 8 6 7 10 9 8 8 12
9999 S XET 5949 67 88 94 99 114 116 108 113 151 126
9310 E[FHET:AR 180 2 1 2 0 1 1 2 1 1 1
9320 H[SHETIL 184 3 1 2 2 1 1 1 3 1 3
9330 R[ZHET/INE 121 1 0 1 0 1 0 2 1 1 0
9340 R [ZHTR 327 0 4 4 3 6 5 4 6 6 4
9999 R[GHXET 812 6 6 9 5 9 7 9 11 9 8
9410 RET T & 300 1 4 3 2 4 4 4 4 3 6
9420 RHETHHE 208 0 0 0 1 0 0 0 0 1 1
9430 RETFER 136 0 0 0 1 1 0 0 1 0 1
9440 RETAEF 13 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 20 0 0 0 0 0 0 0 1 0 0
9460 RET{—_HE 27 0 0 0 0 0 0 0 0 0 0
9470 RETEXR 7 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 44 1 0 0 0 0 0 1 0 1 1
9999 RIXXEt 755 2 4 3 4 5 4 5 6 5 9
99999 &t 56807 738 845 824 899 956 996 1004 1020 1061 1036
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ARET (K a—F THRET(KF)& 108 11E 12 13@ 14 15 16 17 18 19
10 HAT
20 [ d-HT
30 @M
40 LRHET
50 KET—T B
60 RET_TH
70 RET=TH
80 AT IR AT
90 FEHATIRAT
100 b ALET
110 #¥3;THT
120 #A;TAHET
130 ¥ FHT
140 HEAE BT
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 R ET
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT
620 FiEET—T B
630 ¥TERT T H
9999 J\ R XET
1010 B A HT
1020 £ A HT
1030 b HT
1040 74 FrHT
1050 = HHET
1060 FH _EHT
1070 F7[RHET
1080 & HHET
1090 Hi&Hr
1100 L BEHT
1110 $Z1EHT
1120 {E1E JTHT
1130 +4<HT
1140 Fi R ET
1150 #/RET—T B
1160 ¥ RET=TH
1170 ;B/KHET
1180 E&AL.HT
1190 #&FARHT
1200 XFHET—TH
1210 XFHEIZTH
1220 $HET
1230 %KHET
1240 ZEET
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TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

1250 fEEIRT 1 4 3 0 1 5 1 0 2 1
1260 B & 0 0 0 0 0 0 0 0 0 0
1270 EEHT 0 1 0 2 1 2 0 1 0 3
1280 FRAHET 0 4 1 2 5 2 2 0 5 2
1290 $RHET 1 2 2 4 1 2 0 2 3 2
1300 & EEHT 2 2 1 2 2 2 2 2 1 5
1310 RJLHET 0 0 1 1 0 1 1 0 1 1
9999 K HEMRXET 136 134 138 146 129 138 123 143 137 134
1510 A& _E BT 20 17 15 16 18 19 16 15 22 8
1520 HEHTHET 10 9 14 12 17 13 9 11 16 12
1530 }EHTHT 7 5 6 8 5 0 7 7 2 5
1540 K{Z3FHT 8 3 12 8 7 8 3 9 4 10
9999 FEMNA: X 5 45 34 47 44 47 40 35 42 44 35
2010 EE AT 7 4 10 4 6 4 4 6 2 2
2020 % E gl 6 8 5 3 4 5 6 8 6 4
2030 E0HT 0 0 1 0 0 0 1 1 0 0
2040 ;ET—T H 3 6 2 4 5 2 5 4 4 3
2050 BT =T B 2 4 2 3 1 2 3 3 6 2
2060 gt ET 0 0 1 1 1 2 1 0 1 1
2070 FxEBT—TH 4 3 2 3 2 4 3 6 4 5
2080 FRET—TH 1 4 1 3 3 2 5 6 3 2
2090 THiRAT 33 34 33 31 44 31 35 28 33 30
2100 fhdLHT 5 6 3 7 4 6 1 4 4 8
2110 }EWIETET—T B 3 3 1 2 2 4 6 3 5 8
2120 HEMIFTETZT B 10 6 8 7 4 6 8 3 2 3
9999 £ ERXET 74 78 69 68 76 68 78 72 70 68
2510 FAMEET 50 64 60 73 69 57 64 67 50 47
2520 sk EeHT 32 32 40 35 25 26 38 25 39 39
2530 = /INRHET 9 1 6 7 8 8 4 10 7 6
2540 FHi5HT 5 4 4 6 3 3 5 8 5 5
2550 ;HHET 3 3 4 1 1 2 4 2 4 5
2560 = SHT 16 20 14 25 14 18 19 14 25 13
2570 K EHT 3 0 2 1 3 5 1 1 0 1
9999 ME R X ET 118 124 130 148 123 119 135 127 130 116
3010 X#FHET 17 23 20 18 18 22 20 13 26 14
3020 ;BT HT 19 13 19 15 16 22 17 24 22 19
3030 L EFHT 14 19 12 13 23 16 15 16 17 14
3040 &S _LHET 1 1 0 2 2 1 2 1 3 2
3050 R AT 39 46 49 47 54 43 49 50 51 41
3060 B THT 9 5 4 11 6 10 6 5 8 9
3070 wyESEAT 9 9 2 8 6 7 9 6 6 7
3080 H hHT 19 12 1 7 9 8 6 11 9 4
3090 HHRERHAT 15 6 15 9 9 7 9 9 11 8
3100 EH R FEHET 7 5 7 6 10 5 8 3 9 3
3110 EHAILHET 3 7 6 5 13 7 5 6 9 3
9999 /\FHERXET 152 146 145 141 166 148 146 144 171 124
3510 27 _FHT 2 1 3 0 1 0 2 4 2 1
3520 £ R chfT 4 3 4 4 2 5 7 6 7 6
3530 &R THT 13 24 7 16 22 12 13 19 16 14
3540 =B KHT 5 8 6 4 9 4 6 10 5 6
3550 AEFHT 13 13 14 13 17 10 15 11 11 12
3560 = T B HET 4 4 3 2 5 6 6 4 6 4
3570 & T AafT 9 7 10 15 10 8 6 13 15 12
3580 FLIFTHT 7 6 8 8 6 8 7 5 9 17
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TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

3590 JEMT 0 0 0 0 0 0 0 0 0 0
9999 S HKXE 57 66 55 62 72 53 62 72 71 72
4010 41| RET 8 4 5 4 4 4 6 6 8 5
4020 {E&HT 1 1 1 0 2 0 2 1 2 1
4030 5HT 3 3 1 2 2 6 2 6 2 3
4040 = HEAHT 3 3 4 5 2 2 6 3 4 5
4050 7K EHT 6 8 7 9 7 4 7 12 10 8
4060 E5Z HAT 7 5 13 4 9 9 9 10 9 8
4070 JtJRHET 5 3 2 4 1 2 0 1 2 1
4080 =;T;HAMT 7 4 5 3 3 3 4 4 2 5
4090 S5 ERHT 7 8 3 2 5 5 8 6 8 6
4100 g FEFOET 0 1 1 2 2 2 2 3 0 2
4110 JEFF0ET 2 1 4 3 2 4 2 1 3 1
9999 2RI X st 49 41 46 38 39 41 48 53 50 45
4510 EREE—FHET 15 8 15 10 6 11 13 10 12 9
4520 EREE — AT 0 3 3 6 6 2 5 5 7 4
4530 EREE=ZEHT 2 3 3 2 2 3 4 5 1 3
4540 B} EErUZEET 1 2 1 2 0 3 0 1 1 1
4550 EREE FFHT 0 1 1 3 3 2 3 5 2 4
4560 AREE/EHET 2 0 2 4 0 1 2 1 0 2
4570 EREE-HZFHET 1 2 0 2 3 2 3 3 5 3
4580 ERZE/)\ZHEHT 1 2 1 4 2 1 0 2 1 3
4590 EREE N FEHT 3 5 2 2 3 2 0 0 1 2
4600 EREE-+ZEHET 0 1 2 1 2 2 2 1 0 5
4610 EREE+—ZHT 2 3 3 2 4 0 6 3 1 3
4620 B+ —FET 2 4 4 1 3 2 1 0 3 7
9999 ERERXET 29 34 37 39 34 31 39 36 34 46
5010 BRF0H £ HT 3 5 2 2 3 2 3 1 3 3
5020 FAFNBAELET 0 2 1 2 2 2 2 2 4 3
5030 FRFNREI{—HT 2 4 1 2 2 5 5 2 3 2
9999 AFIAXET 5 11 4 6 7 9 10 5 10 8
5510 b RHET 3 4 2 3 1 1 0 1 3 1
5520 = HhHET 13 19 8 19 10 13 14 12 1 9
5530 75 = /T 5 11 4 7 5 3 4 5 7 5
5540 THEHRT 6 2 7 6 2 5 1 4 2 2
5550 EEHET 0 0 1 0 0 0 0 0 1 0
9999 =R X 5t 27 36 22 35 18 22 19 22 24 17
6010 [EIHAT/MER 2 1 2 2 1 2 2 3 2 0
6020 [EHT 4 0 3 2 0 1 0 4 0 0 3
6030 [EET A I 2 0 2 0 4 2 2 1 2 2
6040 EiEIFHET 5 2 8 3 1 7 3 4 3 2
6050 JI|ABTE 1 1 3 2 2 3 2 2 2 2
6060 JI|EHETF 4 3 2 3 3 4 4 1 3 0
9999 FEEMRXET 14 10 19 10 12 18 17 11 12 9
6510 B &= A#GHET 1 0 0 0 0 0 0 0 0 1
6520 H & A KIEHET 2 3 4 4 1 5 5 6 3 3
6530 B E AFTHHET 1 1 0 0 1 1 2 0 2 2
6540 HZEALLTHET 3 3 2 2 1 1 3 2 2 2
6550 B E A Z NET 0 2 0 2 2 0 2 1 0 0
6560 HRAIEILHET 1 2 2 0 1 2 4 3 2 5
6570 B EALERIHET 2 0 1 0 0 1 1 3 2 3
6580 H&EAEHT 0 0 0 0 0 0 0 1 0 1
6590 HZ= ATHET 1 0 0 0 0 0 0 1 0 0
6600 B &= AT 1 2 1 1 0 2 1 1 0 2
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9030 +THTH & H 35 37 32 29 39 31 34 37 34 23
9040 FTHTHEIH 30 31 24 33 24 30 24 16 26 23
9999 FT#XEt 78 82 73 72 71 76 72 68 79 64
9110 SRETTTH & 15 7 10 16 5 11 11 8 10 15
9120 SFETH L 2 0 2 3 4 6 5 4 6 1
9130 FFEETH B 0 1 3 2 2 1 0 2 2 0
9140 $RAT T4 12 8 7 6 11 4 4 9 7 5
9150 $EHT L &5 13 10 9 11 13 10 4 8 11 6
9160 SRETERHT 19 13 16 12 15 12 11 15 6 10
9170 $RATNEA 14 23 11 20 14 26 12 19 8 16
9180 #RHTEE 9 7 15 7 9 6 4 11 7 9
9190 $EHT:Z O 5 6 6 4 5 8 0 3 5 2
9200 i ET Fr il 1 3 1 0 1 3 2 7 3 3
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TRET(KF)a—FK {TEET(K=FE)L  107% 11& 128 13@ 145 15 16k 17% 18 19&%

9210 SFET=EH 7 6 5 6 8 5 7 5 9 6
9220 $EHT 7 H 13 8 15 16 10 13 9 9 10 9
9230 SXET B M 14 13 9 9 15 12 13 15 13 11
9240 $EHETIEE 3 5 5 6 5 1 3 3 1 2
9250 % HT At #r b 11 12 6 12 11 12 11 16 13 7
9999 S XET 138 122 120 130 128 130 96 134 111 102
9310 E[FHET:AR 2 1 4 3 2 3 0 3 0 3
9320 H[SHETIL 1 2 4 5 2 5 2 3 1 2
9330 FH[SAT/INE 3 2 0 2 2 0 2 0 3 2
9340 R [ZHTR 8 6 4 5 7 5 7 4 9 8
9999 H[G#HXET 14 11 12 15 13 13 11 10 13 15
9410 RET T & 5 4 5 7 7 2 10 4 12 7
9420 RHETHHE 0 1 0 0 2 0 2 0 0 2
9430 RETFER 0 0 0 1 0 1 1 0 2 1
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 0 0 0 0 0 0 0 1 0
9460 RET{—_HE 1 0 1 0 1 0 0 0 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 1 0 2 1 2 0 1 2 1 0
9999 RIXXEt 7 5 8 9 12 3 14 6 16 10
99999 &t 1082 1084 1038 1103 1090 1061 1056 1092 1131 1002
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TBET(KF)a—FK {TEET(KFE)R 208 213 22 23@m 24k 25m 26k 27@% 28 29

10 HAT 3 3 6 3 1 5 2 2 4 4
20 fE&LET 2 1 0 3 4 5 2 3 1 1
30 JEHT 3 3 4 3 3 8 3 3 2 2
40 SRET 0 3 0 1 0 1 0 1 2 0
50 KET—T B 1 3 4 5 2 2 3 3 3 7
60 KET=TH 3 5 3 1 6 1 3 3 5 4
70 RET=TH 4 10 7 1 4 5 9 2 0 1
80 AT IEHET 0 0 0 0 1 1 0 0 2 1
90 FEHATIRAT 2 3 4 3 4 3 1 3 0 2
100 b ALET 0 3 1 2 0 2 1 0 1 2
110 T HT 26 29 21 22 24 20 18 17 27 19
120 ;T AHT 2 6 6 3 5 4 4 4 11 8
130 t&FHT 4 4 9 6 3 6 2 8 7 6
140 EAEET 0 1 1 1 0 0 0 2 0 0
150 1 FFrHET 6 9 9 6 8 5 5 8 8 8
9999 KB XEt 56 83 75 60 65 68 53 59 73 65
510 AETHT B 3 4 4 9 8 10 5 2 7 8
520 HpEEMT 2 4 3 1 1 0 2 1 3 3
530 /\F&EHET 4 4 5 11 5 5 1 5 2 2
540 15 HT 16 9 5 13 5 6 9 4 4 4
550 FithET 7 5 7 4 6 6 2 6 6 3
560 = ZLHT 2 3 3 3 3 0 3 3 2 1
570 EEHT 3 1 1 1 1 2 2 0 1 2
580 HrhHET 3 3 4 0 5 0 5 1 1 1
590 #7;EHT 0 1 0 0 0 1 1 1 5 1
600 ZEARET 9 12 8 7 7 8 9 4 10 7
610 JEHT 2 1 5 2 1 4 1 4 4 0
620 ¥ ERT—TH 0 0 1 0 1 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 1 0
9999 J\ KXt 51 47 46 51 43 42 40 31 46 32
1010 B A HT 3 3 3 1 2 6 6 4 2 3
1020 Lt FHT 2 2 2 2 3 2 5 7 7 4
1030 b HT 3 4 2 3 7 6 4 6 5 4
1040 78 HT 10 6 10 9 11 15 10 10 10 7
1050 = HHET 12 14 6 11 8 9 14 14 20 13
1060 FH _EHT 5 12 10 11 7 12 8 14 13 20
1070 A7 R HET 22 15 16 21 9 10 21 20 14 10
1080 & HHET 6 16 6 8 21 7 6 21 11 11
1090 Hi&Hr 12 7 15 7 6 5 9 7 8 10
1100 £ BEHT 8 12 10 4 10 10 5 11 12 18
1110 f21EHT 5 3 4 7 3 1 6 1 4 8
1120 #Z1E JCHT 0 0 1 2 0 0 0 1 0 1
1130 +5&HT 0 0 0 0 1 1 0 0 1 0
1140 Fk[RHET 1 0 0 0 0 0 0 0 0 0
1150 #/RET—T B 2 1 3 1 3 4 1 2 3 1
1160 #EET=TH 2 3 0 2 3 1 2 3 1 3
1170 ;B/KHET 1 4 4 4 1 7 1 1 2 1
1180 EE&FLHET 1 5 5 1 3 2 4 4 5 3
1190 ¥ F AHT 4 0 3 2 2 3 4 3 5 0
1200 XFHET—TH 1 3 1 4 2 1 2 2 3 2
1210 XFHEIZTH 2 2 2 2 5 2 1 0 0 2
1220 FrHT 2 1 4 3 2 0 1 3 2 5
1230 #XHET 2 3 2 4 0 4 3 4 3 1
1240 B EHT 2 1 3 2 1 1 3 1 2 3
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TBET(KF)a—FK {TEET(KFE)R 208 213 22 23@m 24k 25m 26k 27@% 28 29

1250 TEEMT 3 0 2 0 2 5 3 2 3 3
1260 B & 0 0 0 0 0 0 2 0 0 1
1270 EEHT 2 3 4 6 2 2 6 3 0 2
1280 FRAHET 4 5 4 2 3 5 7 4 3 3
1290 $RHET 2 3 4 2 3 1 1 1 4 4
1300 & EEHT 0 2 2 1 1 1 4 4 4 9
1310 RJLHET 1 1 1 2 3 3 1 1 1 0
9999 K HEMRXET 120 131 129 124 124 126 140 154 148 152
1510 HEHD_E BT 9 11 10 9 13 9 11 7 6 18
1520 HEHTHET 14 13 8 5 10 9 8 8 7 5
1530 }EHTHT 4 2 4 4 2 1 7 2 0 7
1540 K4EFHT 13 10 6 9 9 7 8 9 5 15
9999 FEMNA: X 5 40 36 28 27 34 26 34 26 18 45
2010 EE AT 2 2 2 7 0 4 1 1 1 2
2020 % E gl 5 3 6 7 5 2 12 6 6 9
2030 E0HT 0 0 0 0 0 0 0 0 0 0
2040 ;ET—T H 5 3 3 2 1 2 3 1 1 4
2050 BT =T B 6 2 3 3 2 2 2 0 5 2
2060 ¥g AT 0 0 0 0 1 0 0 0 0 1
2070 FxEBT—TH 4 4 0 5 3 3 3 4 2 1
2080 FRET—TH 3 4 2 2 2 3 2 4 0 3
2090 THiRAT 33 23 20 28 10 27 12 19 19 25
2100 fhdLHT 3 6 10 3 4 8 6 4 1 5
2110 }EWIETET—T B 7 1 1 6 6 5 5 7 6 3
2120 HEMIFTETZT B 5 8 9 2 4 7 5 7 7 6
9999 £ ERXET 73 56 56 65 38 63 51 53 48 61
2510 FAMEET 38 29 35 25 42 36 31 33 43 30
2520 sk EeHT 20 31 21 22 23 25 23 20 34 18
2530 = /INRHET 9 10 6 9 10 14 17 7 5 10
2540 FHi5HT 3 5 3 7 6 3 6 11 7 3
2550 ;HHET 5 6 3 5 4 3 6 2 5 5
2560 = SHT 19 14 15 15 14 12 19 18 14 7
2570 X &HT 1 3 1 0 2 0 0 0 1 1
9999 ME R X ET 95 98 84 83 101 93 102 91 109 74
3010 X#FHET 22 19 24 23 19 16 22 17 13 21
3020 ;BT HT 21 21 20 15 24 18 17 15 21 22
3030 L EFHT 22 17 27 15 12 15 17 12 14 10
3040 &S _LHET 2 2 4 1 4 4 1 4 0 0
3050 THESHHT 33 57 51 52 47 44 47 52 50 61
3060 B THT 5 9 11 9 10 10 5 7 12 9
3070 HEAEAT 2 10 2 6 15 8 6 19 13 13
3080 HHHHT 7 9 4 8 6 4 6 10 9 7
3090 H A E AT 6 12 1 9 10 5 9 5 6 9
3100 EH R FEHET 10 14 5 9 6 9 16 17 12 15
3110 EHeRILHET 9 5 3 5 6 8 8 3 10 9
9999 /\FHERXET 139 175 152 152 159 141 154 161 160 176
3510 27 _FHT 3 4 1 4 3 1 0 5 3 3
3520 £ R chfT 4 5 4 3 6 13 5 2 5 3
3530 &R THT 19 15 15 21 11 15 13 15 20 18
3540 =B KHT 11 8 8 4 4 7 6 5 7 7
3550 AEFHT 14 8 17 10 7 9 8 10 12 15
3560 = T B HET 5 5 3 2 6 5 2 7 3 1
3570 & T AafT 12 14 10 19 9 22 23 13 14 10
3580 FLIFTHT 11 15 12 11 12 11 10 16 12 14
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9010 +THTAKEH 7 6 7 1 1
9020 FTHTHEA 5 10 4 7 13 12 5 6 3
9030 +THTH & H 25 11 15 15 20 26 14 17 22 24
9040 FTHTHEIH 23 22 20 20 23 20 21 28 24 19
9999 FT#XEt 61 45 52 46 56 65 54 63 59 59
9110 SRETTTH & 7 7 12 13 7 4 10 7 6 7
9120 SFETH L 6 13 15 8 6 1 4 6 5 3
9130 SFETH S 3 2 1 1 1 2 2 1 1 1
9140 $RAT T4 2 8 8 4 6 12 6 3 8 7
9150 $EHT L &5 11 6 7 7 4 7 8 10 6 8
9160 SRETERHT 13 12 7 7 14 10 7 8 8 9
9170 $RATNEA 18 10 12 6 13 16 18 12 17 19
9180 #RHTEE 8 9 2 10 4 9 5 4 3 6
9190 $ERTZ O 4 1 6 5 5 5 4 6 3 2
9200 i ET Fr il 3 2 2 5 6 2 1 4 6 1
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TBET(KF)a—FK {TEET(KFE)R 208 213 22 23@m 24k 25m 26k 27@% 28 29

9210 $EHET = H 8 7 8 5 6 4 5 1 9 10
9220 SxETHH 4 8 8 7 7 14 10 10 8 8
9230 SXET B M 14 14 11 11 8 9 10 14 8 15
9240 $EHETIEE 6 1 5 1 1 2 4 2 2 6
9250 % HT At #r b 12 17 15 13 21 16 19 12 13 13
9999 S XET 119 117 119 103 109 113 113 100 103 115
9310 E[FHET:AR 1 1 1 4 2 4 1 0 4 1
9320 H[SHETIL 5 7 2 2 3 3 6 1 3 1
9330 H[SHET/INE 2 4 1 1 0 3 0 1 0 1
9340 R [ZHTR 10 6 6 8 4 4 12 3 2 2
9999 R[GHXET 18 18 10 15 9 14 19 5 9 5
9410 RETT & 6 2 2 3 2 0 1 1 4 4
9420 RHETHHE 2 2 1 1 1 1 1 1 4 1
9430 RETFER 1 3 1 0 0 0 1 1 0 1
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 0 0 0 0 0 0 0 0 0
9460 RET{—_HE 0 0 0 0 0 0 0 0 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 0 0
9480 RHETHER 1 0 2 0 1 2 1 1 0 1
9999 RIXXEt 10 7 6 4 4 3 4 4 8 7
99999 &t 1046 1143 1033 996 990 1032 1020 1017 1067 1060
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TRET(KF)a—FK {TEET (K=FE)E 303 31/ 323 33m 34 35 36@ 37% 38 39

10 HAT 4 3 1 7 0 5 1 7 4 3
20 fE&LET 0 2 2 5 4 1 6 3 3 3
30 @M 2 1 7 3 2 1 5 5 1 3
40 SRET 0 0 1 0 1 1 3 0 2 1
50 KET—T B 8 6 5 5 3 6 6 3 7 9
60 KET=TH 4 5 7 6 5 8 4 8 7 7
70 RET=TH 8 4 2 3 2 2 4 4 8 7
80 AT IEHET 0 1 2 1 2 2 3 3 3 2
90 FEHATIRAT 1 1 2 2 8 1 1 6 3 6
100 b ALET 1 1 2 3 2 0 1 1 0 1
110 T HT 15 22 33 22 20 25 39 36 37 32
120 ;T AHT 3 2 5 3 6 4 3 6 5 5
130 #&FHT 6 7 5 5 9 7 7 9 6 9
140 EH[E M7 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 5 9 8 7 6 7 7 7 5 8
9999 KB XEt 57 64 82 72 70 70 90 98 91 96
510 AETHT B 3 3 4 2 4 2 10 4 5 5
520 HpEEMT 1 2 2 0 5 6 4 1 1 3
530 J\It&HET 3 3 1 4 3 3 4 3 3 2
540 15 HT 3 4 8 5 4 8 7 9 4 11
550 FithET 2 3 5 5 5 6 4 7 9 3
560 = ZLHT 4 3 1 0 1 2 1 0 1 1
570 EEHT 1 1 2 3 2 1 0 2 0 1
580 #rBHET 3 1 3 4 6 2 2 2 4 0
590 FriEMT 5 2 0 2 0 2 0 2 0 0
600 ZEARET 5 9 10 11 12 11 11 10 17 13
610 JEHT 4 6 2 1 7 3 2 2 2 7
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 1 0 0
9999 J\ KXt 34 37 38 37 49 46 45 43 46 46
1010 R HT 2 6 5 1 0 4 2 5 1 5
1020 Lt FHT 4 10 8 7 7 7 5 10 4 8
1030 5 FHT 5 7 8 6 8 7 11 5 9 8
1040 75 K HT 18 10 13 13 16 13 17 15 16 19
1050 = HHET 12 17 15 13 12 13 23 25 15 22
1060 FH _EHT 8 14 12 18 15 16 18 19 17 10
1070 A7 R HET 14 17 18 18 18 19 15 13 14 10
1080 & HHET 10 12 8 11 12 3 13 6 10 10
1090 Hi&Hr 10 11 11 7 11 14 14 18 15 7
1100 £ BEHT 18 10 17 15 13 16 15 17 15 21
1110 f21EHT 2 4 2 6 1 4 5 2 8 2
1120 #Z1E JCHT 0 0 0 1 3 2 1 1 0 1
1130 +5&HT 0 0 0 0 0 1 1 2 0 1
1140 Fk[RHET 0 0 0 0 1 0 1 0 0 1
1150 #/RET—T B 2 4 1 4 2 3 1 4 1 6
1160 #EET=TH 0 2 5 2 0 6 2 3 4 1
1170 ;B/KHET 0 4 4 2 2 3 3 5 2 7
1180 EE&FLHET 4 4 1 11 3 4 2 4 5 6
1190 #&FARHT 3 2 3 3 2 3 3 5 7 4
1200 XFHET—TH 0 0 2 2 2 2 2 3 3 0
1210 XFHEIZTH 2 2 2 1 2 4 2 0 2 7
1220 FrHT 0 3 1 2 0 2 4 2 7 1
1230 #xKHET 3 1 1 1 4 1 1 3 2 3
1240 B EHT 1 5 5 4 2 2 3 3 1 1
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TRET(KF)a—FK {TEET (K=FE)E 303 31/ 323 33m 34 35 36@ 37% 38 39

1250 fEEIRT 3 1 1 2 4 4 4 4 1 2
1260 B R I& 1 0 1 0 0 0 1 1 1 0
1270 EEHT 7 5 1 1 2 2 4 1 2 1
1280 FRAHET 2 4 2 1 2 1 2 6 8 2
1290 $RHET 0 3 2 0 0 4 6 4 5 4
1300 & EEHT 2 2 1 3 1 5 5 4 2 2
1310 R/ HT 3 1 0 0 1 2 0 1 0 2
9999 K HEMRXET 136 161 150 155 146 167 186 191 177 174
1510 A& _E BT 15 9 9 14 18 15 17 17 13 5
1520 HEHTHET 7 11 1 9 13 13 8 13 12 13
1530 }EHTHT 7 4 3 7 6 4 5 3 3 5
1540 K{Z3FHT 13 6 11 11 9 10 4 9 6 9
9999 FEMNA: X 5 42 30 34 41 46 42 34 42 34 32
2010 EE AT 1 5 6 4 1 2 7 2 8 7
2020 % EFGHT 4 7 7 5 5 10 6 8 7 11
2030 AT 0 1 0 2 0 0 0 0 0 0
2040 ;ET—T H 4 3 4 3 3 9 6 3 3 4
2050 BT =T B 5 1 1 1 4 5 2 9 4 3
2060 #5 AT 0 1 0 0 0 1 0 1 0 1
2070 FxEBT—TH 4 3 9 6 5 4 5 6 4 4
2080 FRET—TH 3 3 3 1 10 2 3 1 2 5
2090 THiRAT 28 24 31 25 28 31 27 33 37 39
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TRET(KF)a—FK {TEET (KEFE)R 405 413 42k 43 445 45m 46k 47 48  49%

9210 SFET=EH 8 2 8 5 13 15 9 5 12 11
9220 SxETHH 9 12 8 17 11 13 14 16 13 15
9230 $EHTE M 10 28 21 17 17 9 11 7 21 17
9240 $EHETIEE 2 5 5 6 5 8 4 5 5 4
9250 % HT At #r b 15 16 13 12 14 11 8 14 11 11
9999 S XET 148 166 169 160 158 175 136 169 181 150
9310 E[FHET:AR 2 2 5 3 6 3 3 4 3 5
9320 H[SHETIL 3 4 6 2 3 3 4 6 7 5
9330 H[SHET/INE 2 3 0 1 2 2 4 4 1 4
9340 R [ZHTR 5 9 7 4 9 4 6 8 7 6
9999 R[GHXET 12 18 18 10 20 12 17 22 18 20
9410 RET T & 4 3 6 10 6 13 8 6 5 6
9420 RHETHHE 2 5 1 1 1 4 0 2 5 3
9430 RETFER 0 0 0 1 2 2 1 0 2 1
9440 RETAEF 0 0 0 0 0 0 0 0 0 0
9450 RHETHER 0 0 1 0 0 1 0 0 0 0
9460 RET{—_HE 1 0 0 1 0 0 1 1 0 1
9470 RETEXR 0 1 0 0 0 0 0 0 0 0
9480 RHETHER 0 2 1 0 1 0 1 0 1 6
9999 RIXXEt 7 11 9 13 10 20 11 9 13 17

99999 H&&Et 1422 1315 1392 1413 1474 1505 1548 1530 1649 1522
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

10 HAT 2 4 6 7 2 6 6 5 7 5
20 fE&LET 4 6 2 4 5 2 5 3 4 2
30 @M 7 6 10 5 4 2 3 7 2 7
40 SRET 3 2 0 4 2 0 3 0 1 3
50 KET—T B 6 9 9 6 6 5 1 6 9 5
60 KET=TH 6 7 6 8 2 2 4 4 5 3
70 RET=TH 9 8 16 10 12 7 10 15 9 8
80 AT IEHET 3 2 2 4 2 2 5 2 3 5
90 PN I ET 1 4 6 2 4 3 9 7 2 8
100 b ALET 5 5 7 5 2 1 5 1 4 3
110 T HT 30 39 35 34 39 22 32 36 27 28
120 ¥A;TAHT 11 6 2 4 5 7 5 3 3 4
130 #&FHT 14 10 12 11 10 5 15 9 10 9
140 EH[E M7 1 0 0 1 0 0 0 0 0 0
150 1 FFrHET 16 10 4 7 14 6 9 11 8 7
9999 KB XEt 118 118 117 112 109 70 112 109 94 97
510 AETHT B 7 11 7 12 6 8 6 5 10 4
520 HpEEMT 4 7 2 3 2 2 2 1 3 1
530 /\F&EHET 5 4 1 3 7 4 5 5 8 6
540 15 HT 14 7 16 15 14 12 17 10 21 9
550 FithET 18 10 16 17 7 4 19 10 8 5
560 = ZLHT 1 3 1 2 4 1 3 3 1 3
570 EEHT 2 1 2 1 0 0 2 0 3 1
580 #rBHET 6 0 1 0 1 3 5 3 2 4
590 #7;EHT 1 2 3 1 4 0 1 1 1 2
600 ZEARET 15 16 15 11 15 15 17 12 18 20
610 JEHT 4 1 1 5 2 1 2 9 2 3
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 FEBTZTH 0 1 0 1 1 0 0 0 0 0
9999 J\ KXt 77 63 65 71 63 50 79 59 77 58
1010 R HT 4 4 9 10 8 1 3 7 8 9
1020 Lt FHT 11 10 5 9 6 7 11 7 7 6
1030 5 FHT 8 2 5 7 6 7 4 6 3 14
1040 75 K HT 14 5 10 9 13 10 14 16 19 20
1050 = HHET 16 18 22 25 17 12 21 10 14 25
1060 FH _EHT 12 18 21 11 15 13 25 15 10 11
1070 4T/ HET 14 24 14 16 16 17 15 14 10 14
1080 & FHHT 15 14 14 20 15 8 9 14 23 11
1090 BHiEHT 15 19 10 14 17 14 17 9 11 14
1100 L BiEHT 13 18 9 10 15 10 16 11 9 17
1110 f21EHT 7 4 6 2 2 1 1 3 4 5
1120 #Z1E JCHT 2 0 2 3 1 0 1 2 2 3
1130 +4HT 1 0 0 1 0 0 0 0 0 0
1140 Fk[RHET 1 0 2 0 0 0 0 0 1 0
1150 #/RET—T B 4 5 3 7 4 6 6 5 6 7
1160 #EET=TH 5 8 6 3 6 4 6 8 9 9
1170 ;B/KHET 3 4 4 10 5 0 8 4 2 4
1180 EE&FLHET 7 2 9 6 7 0 8 6 1 10
1190 1 F AHT 6 7 3 2 10 3 3 2 2 1
1200 XFHET—TH 5 6 3 3 6 2 2 7 0 3
1210 XFHEIZTH 1 3 2 0 5 5 5 5 9 3
1220 FrHT 4 1 7 3 3 4 4 7 3 3
1230 #XHET 4 2 4 7 6 1 3 10 8 3
1240 B EHT 3 8 2 3 1 4 3 4 3 5
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

1250 fEEHET 6 3 2 3 3 5 0 5 6 6
1260 B & 0 0 1 0 0 0 2 0 4 0
1270 EEHT 3 2 1 3 3 2 0 4 2 6
1280 FRAHET 1 4 4 4 3 1 4 6 3 7
1290 $RHT 4 5 6 2 7 2 5 6 5 2
1300 & EEHT 4 2 4 1 2 3 5 6 3 4
1310 RJLHET 2 2 1 3 6 1 2 3 2 5
9999 K HEMRXET 205 200 191 197 208 143 203 202 189 227
1510 A& _E BT 19 16 25 10 19 7 28 33 12 15
1520 HEHTHET 22 16 17 18 19 15 20 13 13 15
1530 }EHTHT 6 1 6 6 8 7 11 11 7 4
1540 K4EFHT 8 14 15 16 17 6 13 12 19 9
9999 FEMNA: X 5 55 47 63 50 63 35 72 69 51 43
2010 EE AT 6 7 6 6 10 5 5 3 4 4
2020 %= EFGHET 9 9 6 8 10 6 7 3 5 9
2030 E0HT 0 0 1 0 0 0 0 0 0 1
2040 ;ET—T H 3 13 6 6 4 2 9 9 3 7
2050 BT =T B 3 5 7 4 11 3 8 2 4 0
2060 ¥g AT 0 1 0 1 0 0 2 0 0 1
2070 FxEBT—TH 10 5 4 12 4 8 5 8 5 6
2080 FRET—TH 6 3 8 6 6 6 2 7 3 4
2090 THiRAT 45 47 27 42 33 35 35 42 27 43
2100 fhdLHT 5 6 9 5 4 3 4 6 6 6
2110 }EWIETET—T B 7 5 4 12 8 7 11 9 8 9
2120 HEMIFTETZT B 11 14 6 6 5 4 5 6 12 8
9999 £ ERXET 105 115 84 108 95 79 93 95 77 98
2510 FAMEET 72 56 46 45 68 34 48 50 45 53
2520 sk EeHT 39 29 40 54 51 36 39 34 35 38
2530 = /INRHET 10 10 14 12 15 10 11 9 7 11
2540 FHi5HT 14 6 16 11 6 11 10 13 13 15
2550 ;HHET 7 2 3 5 7 11 4 7 7 2
2560 = SHT 33 19 23 20 23 22 29 24 14 16
2570 K EH/T 0 1 3 0 3 0 0 2 0 0
9999 ME R X ET 175 123 145 147 173 124 141 139 121 135
3010 X#FHET 17 22 24 21 27 24 18 27 23 21
3020 ;BT HT 34 27 21 32 31 22 32 19 26 26
3030 L EFHT 34 25 23 18 29 23 27 24 26 18
3040 &S _LHET 4 7 7 3 10 2 2 6 2 2
3050 THESHHT 67 51 54 58 60 55 64 64 60 48
3060 BN THET 10 16 12 11 9 14 18 9 12 14
3070 wERERT 11 10 21 13 8 10 16 10 13 7
3080 H AT 12 9 9 10 10 6 7 9 8 12
3090 HHRERHAT 9 12 13 5 13 6 7 7 6 13
3100 EH R FEHET 20 12 8 11 16 14 11 14 18 13
3110 EHeRILHET 8 11 7 11 12 8 16 11 13 14
9999 /\FHERXET 226 202 199 193 225 184 218 200 207 188
3510 2R LHT 1 0 2 3 7 4 5 12 14 5
3520 &R T 10 13 11 8 13 5 10 8 8 11
3530 27 THT 33 34 28 20 25 18 25 21 33 32
3540 =B KHT 7 12 10 7 18 2 15 15 6 12
3550 AEFHT 15 12 15 19 16 27 24 18 17 17
3560 = T B HET 7 7 5 6 4 10 5 1 6 6
3570 & T AafT 24 24 18 17 29 19 16 17 18 14

3580 ¢ LLITHT 13 9 21 10 15 15 11 16 11 9
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517 52i%

TIRET (KF)2—K {TEHET (KF) 4
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4080 =;T;HAMT
4090 S5 ERHT
4100 FFEFNHET
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4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET
5010 BRF0H £ HT
5020 BAF0BAELET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET
5520 = HhHET
5530 F4'= HT
5540 wy ZEmT
5550 EEHET
9999 =R X 5t
6010 [EHT/NEE
6020 [EHT 4
6030 FEBTA I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 BEERXET
6510 B &= A#GHET
6520 HZEAKIEHET
6530 B E AFTHHET
6540 HERALLTHT
6550 B E A Z NET
6560 HRAIEILHET
6570 B EALERIHET
6580 HZAEHRT
6590 HZ= ATHET
6600 B &= AT

507%

0
110
10

3

8

4

10

10

3

—_ w -
— RO WAdADNDWOWAOPRPDODLWLWOW == =00W-—-N=—=—0 — 0

—_

S
o

O = NMNMNO—ODON—-ODMON—-—DN-—=

11

—_—

—_
[=)]
ONWON—-"LON—-WWWIUTOoON—-—0OCOODO—=—=OO00ON —

w — — u—y D
oo o NG =01 01— O

O OO WNUUONNOOOUGO Gl — O — ©

11

—_

S -
A -=a2DPNDAEA=DNOPM_MMOCO—~ 00 OOuoo ~w,s,wdJoOo

=~ NN = W= DNN-—-" WO WWANNMNMNNW-_AI—-OOTGW-—~0OOo

53i% 54i%
0 0
90 127
10 5
3 1
9 8
12 2
14 12
11 7
3 4
3 2
7 8
4 3
2 3
78 55
14 24
6 3
5 1
3 5
2 5
3 0
4 3
0 0
3 2
3 2
2 2
3 5
48 52
7

4

2

3

N == O h~ANOGB,,OAO—- 00— P,P,PWO—- 000N —=JwWPHo — 0

N T —_—
N JOONOW

W= O = WWUu—-=NOWOWOu o o w

55i% 567%

10

—_—

—_
(=)
NO P~ 200~~~ N DNAOJOPPANIJIJOOT—=0000CG NG OO

4

—_ -
o

N—= NN =0 WUl —=- == 01Ww—-= = 0ON—-" W= wWhhoooaon —=

11

- O

WONOOTWW—_0O-"Ndy—="DowudMNMOaNMNMNOONOTMNMNODMOIPL,JdJODNNMMODMWPW—LAON—O0O0O—~UWLWONOONWWN—O

57 58i%

10

N Ol

(&)
N = ONWOWAMRWODOW - JWA = =D WP, - 01O JIJOOWW—-=WN—-=WWNDNWWPLPLPWONAIDEL-="LDDODNOWOWO

—_—

11

-

cn—k
O WUINMNMNOPAE,ALAEI—-O - DPOWNDIDO—-L000DCTONIMOOWNOOOG—-=DNDMNO—-DIDOWNOWODODOU Ol 1 OO h~ —

59i%

—_
o

—_
WONOW—-0D0OdPP,WWWMNO-NMODOOWININNDNMNOOONOAaODMMPMNNOG OO

u—y

N O

—_ P
w

N - OO P~ WUONOSOD - WO —-O0ONOW-—=



KH24T7IERERBRED—HRIEICLIYNEANZSOH-AA-HTFH
(R3.12.31 IR JATERET & (K=F) Bl il A Ot 52 (55

THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

6610 HEA _LFEHT
6620 HZE AT
6630 HZE AT FGHET
6640 B &= A EitslT
6650 B ZASHET

6660 HZ A RLHET

9999 HEAKKET 1 2 2 3 2 2 2 2 3 3
7010 Z— R;M O/
7020 — B AHT 1 1

7030 = R FR#AHET
7040 — BT KEFHET
7050 — R ¥y H I HET
9999 — R&XEt
8011 IRAETFEHERLY
8012 RAETFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IRAHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 Y AHETHLIFI
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L

8140 IRABTHFRKT
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8150 IR AHBTEFRK L 2 1 1 3

9999 AKX 5T 22 27 25 2 26 24 42 28 29 45
9010 +THTAKEH 11 18 18 6 13 14 18 20 12 24
9020 FTHTHEA 7 14 13 11 9 7 9 12 10 7
9030 +THTH & H 31 18 28 25 32 19 25 27 36 21
9040 FTHTHEIH 34 34 40 39 41 29 35 39 33 32
9999 FT#XEt 83 84 99 81 95 69 87 98 91 84
9110 SRETTTH & 18 17 16 17 16 11 12 15 15 17
9120 SFETH L 6 3 4 7 2 9 8 10 6 4
9130 FFEETH B 2 5 4 1 7 5 4 1 8 3
9140 $RAT T4 11 8 11 7 10 9 9 11 7 16
9150 $EHT L 45 15 11 12 16 10 14 10 8 10 13
9160 SRETERHT 16 19 11 16 29 19 17 24 18 15
9170 $RATNEA 24 23 22 17 15 18 23 28 27 22
9180 #RHTEE 11 13 18 6 17 13 16 12 18 15
9190 $ERTZ O 3 5 3 1 8 4 5 3 3 1
9200 i ET Fr il 4 4 3 5 7 4 7 5 4 10
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THRET(KF)a—FK {TEET (K=FE)® 508 51/ 52&% 53/ 54k 55m 56k 57@ 58% 59

9210 $EHET = H 9 8 11 16 16 6 7 9 9 4
9220 $EHT 7 H 14 11 14 15 14 11 16 18 14 19
9230 $EHTE M 18 9 13 12 20 9 17 22 18 18
9240 $EHETIEE 2 6 7 7 9 5 10 10 12 8
9250 % HT At #r b 16 12 10 13 9 7 11 18 15 15
9999 S XET 169 154 159 156 189 144 172 194 184 180
9310 E[FHET:AR 6 3 1 2 4 5 4 3 8 10
9320 H[SHETIL 4 6 6 3 6 4 8 9 6 9
9330 FH[SAT/INE 0 1 4 5 3 3 1 9 2 2
9340 R [ZHTR 4 11 5 7 12 10 12 23 9 16
9999 WG XET 14 21 16 17 25 22 25 44 25 37
9410 RET T & 6 6 7 5 10 9 14 9 8 13
9420 RHETHHE 2 5 6 5 4 2 4 5 6 6
9430 RETFER 2 5 2 4 6 2 4 2 3 5
9440 RETAEF 0 0 0 0 1 0 1 0 2 0
9450 RHETHER 0 0 0 0 0 0 2 0 0 1
9460 RET{—_HE 1 0 0 0 0 1 2 0 0 0
9470 RETEXR 0 0 0 0 0 0 0 0 1 0
9480 RHETHER 0 2 0 4 0 1 2 3 4 1
9999 RIXXEt 11 18 15 18 21 15 29 19 24 26

99999 H&&Et 1580 1509 1496 1492 1658 1255 1604 1606 1527 1615
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TRET (K a—F THRET(KF)®& 60 61/ 62/ 63/ 64 65i% 66 67i 68 69
10 HAT
20 [ d-HT
30 @M
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50 KET—T B
60 RET_TH
70 RET=TH
80 AT IR AT
90 PN I ET
100 b ALET
110 #¥3;THT
120 #A;TAHET
130 ¥ FHT
140 HEAE BT
150 1 FFrHET
9999 KER X &t
510 AETHT B
520 4L EEMT
530 J\It&HET
540 15 EHT
550 FithET
560 = ZEHT
570 EEHT
580 ¥TREAET
590 FriEMT
600 ZERHET
610 FHT
620 FiEET—T B
630 ¥TERT T H
9999 J\ R XET
1010 B A HT
1020 £ A HT
1030 b HT
1040 74 FrHT
1050 & FHHET
1060 FH _EHT
1070 F7[RHET
1080 & FHHT
1090 Hi&Hr
1100 L BEHT
1110 $Z1EHT
1120 1@ IE JTHT
1130 +4<HT
1140 Fi R ET
1150 #/RET—T B
1160 ¥ RET=TH
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THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

1250 fEEIRT 3 6 3 5 3 3 4 3 2 2
1260 B & 0 0 4 1 2 3 0 3 1 2
1270 EEHT 6 4 3 1 2 5 3 4 3 5
1280 FRAHET 2 0 3 3 1 4 8 4 4 7
1290 $RHET 3 1 4 4 7 4 5 6 3 8
1300 & EEHT 2 2 6 2 0 4 3 2 2 0
1310 RJLHET 5 5 6 3 2 2 4 3 0 1
9999 XH M XET 207 197 205 211 178 208 209 200 191 223
1510 A& _E BT 15 16 15 25 23 17 17 23 23 13
1520 }EHI T BT 27 20 23 14 20 20 21 25 24 19
1530 HEHITHET 8 9 12 8 16 11 10 13 5 14
1540 K4EFHT 10 21 9 18 21 16 17 28 14 21
9999 FEMNA: X 5 60 66 59 65 80 64 65 89 66 67

2010 EE AT 8 3 5 2 2 8 3 3 4 4
2020 % E gl 7 3 5 9 7 5 5 10 4 10
2030 E0HT 0 0 0 2 4 2 2 0 0 0
2040 ;ET—T H 4 6 4 5 7 3 4 3 2 4
2050 BT =T B 3 7 1 3 4 7 5 4 7 5
2060 ¥g AT 2 2 1 1 3 1 2 3 3 0
2070 FxEBT—TH 4 11 9 11 6 8 8 5 5 10
2080 FRET—TH 8 5 1 3 5 5 9 6 3 7
2090 THiRAT 45 52 31 42 51 61 59 55 59 68
2100 fhdLHT 2 4 7 6 4 5 10 10 9 6
2110 }EWIETET—T B 7 6 7 7 3 4 8 8 8 14
2120 HEMIFTETZT B 3 1 8 14 8 6 13 13 8 9
9999 E B XEt 93 100 79 105 104 115 128 120 112 137
2510 FAMEET 62 43 57 63 49 45 50 50 47 62
2520 sk EeHT 35 33 49 39 36 50 32 39 37 31
2530 = /INRHET 12 15 13 7 9 11 12 15 12 16
2540 FHi5HT 21 8 10 12 17 11 14 9 20 23
2550 ;HHET 2 11 7 7 5 6 12 6 7 9
2560 = SHT 18 18 25 27 22 28 33 28 24 34
2570 X &HT 1 1 2 5 3 0 3 1 1 6
9999 ME R X ET 151 129 163 160 141 151 156 148 148 181
3010 X#FHET 22 26 23 29 17 23 27 31 25 40
3020 gt ;IHT 18 16 31 17 24 25 26 18 30 28
3030 L EFHT 19 27 16 18 26 18 26 20 22 23
3040 &S _LHET 0 3 6 4 3 3 8 4 7 6
3050 B AT 54 68 59 54 49 68 50 68 43 59
3060 B THT 11 14 23 15 13 5 17 12 13 14
3070 HEAEAT 8 8 18 13 13 18 16 13 16 17
3080 HHHHT 8 12 9 9 6 6 7 14 5 3
3090 HHRERHAT 12 7 10 4 9 8 6 7 8 12
3100 EH R FEHET 9 10 11 12 14 16 13 12 18 13
3110 EHeRILHET 6 18 17 20 11 10 14 12 14 14
9999 /\FHERXET 167 209 223 195 185 200 210 211 201 229
3510 £[R AT 4 7 9 4 2 3 6 5 10 4
3520 £ R chfT 7 10 10 10 10 11 9 14 7 10
3530 27 THT 23 29 30 23 33 32 29 28 28 39
3540 =B KHT 18 14 7 7 13 9 11 11 12 14
3550 AEFHT 27 23 32 26 21 24 35 22 35 30
3560 = T ERAT 18 10 4 8 10 13 18 15 13 13
3570 & T AafT 18 15 17 24 26 21 19 29 24 33

3580 ¢ LLITHT 14 10 16 12 20 17 16 18 17 12
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4550 EREE FFHT
4560 EREENEEHET
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4580 EREE)\ZHT
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THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

6610 HEA _LFEHT 0 5
6620 HZE AT 1 0
6630 HZE AT FGHET 6 3
6640 B &= A EitslT 2 0
6650 B ZASHET 0 0
6660 HZ A RLHET 0 0
9999 HEARKKXET 3 3 2 4 3 40 5 64 5 7
7010 Z B MO E 6
7020 — R AHT 1 11 1 1
7030 — R FRHAET 5
7040 — BT KEFHET 17 1
7050 — 555 H U AT 4
9999 — R&XEt 2 2 3 2 2 2 3 43 3 5

8011 IRAETFEHERLY
8012 RAETFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IR AHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L
8140 JRABIEEZEXT
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8150 IR AHBTEFRK L 2 3 4 2 1 6 6
9999 AR X ET 36 52 54 61 57 55 54 63 56 69
9010 +THTAKEH 14 12 15 26 26 15 23 16 17 16
9020 FTHTEE R 10 12 8 14 8 6 13 12 16 12

9030 FTHT#FHAEH

w
o
w
w
w
>
w
N
w
—
w
~
[N)
[e%S)
N
w
w
Y
wW
o

9040 FTHTHEIH 38 41 42 46 35 36 38 40 31 43
9999 FT#XEt 92 98 101 118 100 94 102 111 101 101
9110 $RET T HIE 11 9 8 9 14 15 18 9 13 20
9120 SFETH L 3 4 5 8 0 7 10 11 10 5
9130 FFEETH B 8 3 3 9 4 6 7 8 1 3
9140 $RAT T4 18 15 15 15 16 12 17 10 11 17
9150 $EHT L &5 20 13 22 7 12 13 18 12 19 18
9160 SRETERHT 17 19 18 19 14 22 16 24 17 23
9170 $RATNEA 22 26 39 25 21 27 27 19 20 22
9180 #RHTEE 15 13 15 26 16 23 22 21 19 29
9190 $ERTZ O 3 6 5 7 7 9 11 9 5 10

9200 $EHTEFIF 13 10 9 5 11 9 4 6 4 8
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THET(KF)a—K {TEET (K=FE)® 603 6173 623 63/ 645 65/ 66F 67/ 68F 69

9210 SFET=EH 11 21 10 6 16 7 18 12 13 13
9220 $EHT 7 H 12 14 10 10 16 18 16 20 11 17
9230 $EHTE M 20 25 21 21 23 20 20 21 30 29
9240 $EHETIEE 6 10 9 10 8 8 6 12 15 5
9250 % HT At #r b 17 11 16 19 16 19 16 19 22 18
9999 S XET 196 199 205 196 194 215 226 213 210 237
9310 E[FHET:AR 9 11 6 5 11 8 9 5 12 6
9320 H[SHETIL 5 11 4 12 9 11 11 5 6 13
9330 H[SHET/INE 4 9 6 8 4 6 11 9 3 10
9340 R [ZHTR 7 10 10 10 11 19 17 21 16 10
9999 WG XET 25 41 26 35 35 44 48 40 37 39
9410 RET T & 7 9 10 16 16 11 12 14 11 15
9420 RHETHHE 7 6 3 9 7 6 8 11 13 15
9430 RETFER 3 6 3 1 4 6 6 6 6
9440 RETAEF 1 0 0 0 1 2 0 1 0 0
9450 RHETHER 0 0 1 1 1 1 1 0 1 3
9460 RET{—_HE 1 2 1 1 1 2 1 2 1 1
9470 RETEXR 0 1 0 0 0 0 0 3 0 1
9480 RHETHER 0 1 2 1 0 1 0 1 3 1

9999 REXET 25 20 29 30 29 28 38 35 42
99999 TH&Et 1585 1684 1699 1739 1707 1796 1906 1935 1856 2101

—_
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ARET(KF)a—K THRET(KF)& 708 718 72 73m 74 75 716 77 78 719
10 HAT 11 4 6 5 7 0 1 0 1 3
20 fE&LET 5 6 6 3 2 1 4 5 1 4
30 @M 5 10 10 10 8 5 4 6 7 5
40 SRET 2 6 6 5 5 4 3 5 4 4
50 KET—T B 14 13 13 16 14 7 9 7 7 7
60 KET=TH 5 7 8 8 4 3 6 4 7 2
70 RET=TH 9 9 12 6 6 5 5 3 8 10
80 AT IEHET 1 3 2 3 4 3 4 1 0 3
90 PN I ET 6 3 15 7 10 6 7 11 5 7
100 b ALET 7 4 3 3 6 4 3 3 2 3
110 T HT 28 31 39 36 33 22 22 15 15 21
120 ;T AHT 4 4 4 6 4 6 3 2 4 2
130 t&FHT 13 18 6 14 12 6 10 15 12 10
140 HE[EHT 0 0 0 0 0 0 0 0 0 0
150 1 FFrHET 10 14 3 7 8 6 5 5 7 5
9999 KB XEt 120 132 133 129 123 78 86 82 80 86
510 AETHT B 20 8 20 6 19 12 11 10 12 13
520 HpEEMT 3 6 4 6 4 3 2 3 4 6
530 J\It&HET 6 6 10 9 6 5 6 3 7 3
540 15 HT 7 15 14 9 18 12 5 7 8 19
550 FithET 6 6 11 12 10 8 5 9 8 10
560 = ZLHT 1 1 2 1 1 0 2 3 2 0
570 EEHT 3 1 3 1 3 1 1 2 2 2
580 #rBHET 10 4 5 2 1 2 8 6 4 4
590 FriEMT 4 1 4 3 3 4 1 2 2 2
600 ZEARET 25 19 23 17 12 7 9 13 8 15
610 JEHT 7 8 4 10 3 3 5 4 4 4
620 ¥ ERT—TH 0 0 0 0 0 0 0 0 0 0
630 ¥ EBET=TH 0 0 0 0 0 0 0 0 0 0
9999 J\ KXt 92 75 100 76 80 57 55 62 61 78
1010 B A HT 10 6 10 6 9 6 3 2 4 2
1020 Lt FHT 11 10 10 17 13 3 5 10 6 7
1030 5 FHT 8 7 10 6 6 7 2 7 6 7
1040 75 K HT 18 7 17 11 15 11 5 8 17 8
1050 = HHET 11 17 21 23 15 14 5 14 9 8
1060 FH _EHT 13 17 14 13 13 12 5 10 8 10
1070 A7 R HET 15 15 17 12 20 10 10 13 12 15
1080 & HHET 11 4 15 5 7 9 8 9 5 10
1090 BHiEHT 26 23 23 12 16 15 11 13 17 14
1100 £ BEHT 18 18 23 12 20 11 11 16 17 9
1110 f21EHT 3 3 5 3 4 1 7 6 4 4
1120 #Z1E JCHT 0 5 2 4 2 4 1 2 3 0
1130 +5&HT 0 1 4 1 2 0 0 2 1 1
1140 Fk[RHET 0 0 0 0 0 1 1 3 0 0
1150 #/RET—T B 3 9 13 5 4 8 3 4 5 6
1160 #EET=TH 5 9 12 10 11 2 1 1 8 9
1170 ;B/KHET 4 6 6 5 6 0 2 5 3 9
1180 EE&FLHET 6 12 9 5 6 6 10 11 4 8
1190 1 F AHT 5 5 10 7 9 2 1 9 4 2
1200 XFHET—TH 6 2 4 5 4 2 0 4 1 3
1210 XFHEIZTH 6 10 6 11 4 2 1 5 4 1
1220 FrHT 2 3 2 8 11 1 3 6 2 4
1230 %KHET 2 9 6 5 4 5 6 5 4 7
1240 B EHT 3 5 4 5 5 2 2 5 5 3
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

1250 fEEIRT 2 4 4 6 5 3 3 0 4 3
1260 B & 0 1 3 2 0 1 3 1 2 1
1270 EEHT 0 3 6 3 3 1 4 3 0 2
1280 FRAHET 9 4 3 5 4 3 2 4 3 3
1290 $RHT 3 1 8 5 9 5 2 9 3 5
1300 & EEHT 3 7 3 7 5 4 4 3 4 2
1310 RJLHET 3 0 0 4 2 2 2 3 3 1
9999 K HEMRXET 206 223 270 223 234 153 123 193 168 164
1510 A& _E BT 19 30 19 25 20 16 8 21 25 20
1520 HEHTHET 29 32 27 28 23 18 21 19 20 21
1530 }EHTHT 8 6 12 10 17 10 6 14 10 5
1540 K4EFHT 17 14 21 21 23 10 14 15 11 8
9999 FEMNA: X 5 73 82 79 84 83 54 49 69 66 54
2010 EE AT 3 5 9 12 7 5 3 3 8 5
2020 %= EFGHET 3 7 0 7 4 6 1 8 2 5
2030 AT 1 0 6 3 2 0 0 0 0 2
2040 ;ET—T H 11 6 7 10 9 4 6 4 2 7
2050 BT =T B 5 10 7 7 8 7 6 9 6 5
2060 gt ET 2 1 2 5 2 1 1 0 2 1
2070 FxEBT—TH 10 8 7 8 6 10 0 6 7 9
2080 FRET—TH 5 6 4 8 7 9 6 4 6 3
2090 THiRAT 60 54 71 66 69 40 35 45 65 38
2100 fhdLHT 5 3 16 6 8 2 1 2 3 4
2110 }EWIETET—T B 6 8 8 11 8 6 4 4 9 6
2120 HEMIFTETZT B 6 14 9 5 11 9 6 4 7 9
9999 E B XEt 117 122 146 148 141 99 69 89 117 94
2510 FAMEET 50 67 58 79 60 40 34 54 37 52
2520 sk EeHT 39 44 42 42 35 22 16 17 20 16
2530 = /INRHET 10 12 16 10 10 4 5 3 3 5
2540 FHi5HT 19 15 26 18 21 20 13 11 15 13
2550 ;HHET 1 3 6 7 7 3 7 5 9 4
2560 = SHT 27 39 47 33 41 23 17 23 21 25
2570 X &HT 3 5 4 10 2 3 1 2 2 2
9999 ME R X ET 159 185 199 199 176 115 93 115 107 117
3010 X#FHET 30 25 38 37 35 23 18 31 20 27
3020 ;BT HT 32 27 39 32 43 23 12 22 13 15
3030 _EFHET 17 18 21 26 25 9 15 14 17 17
3040 &S _LHET 3 1 5 2 4 4 2 7 5 4
3050 B AT 45 64 78 69 66 28 25 38 46 35
3060 BN THET 10 28 12 17 22 9 9 17 21 17
3070 HEAEAT 18 22 15 13 12 11 13 15 11 11
3080 H AT 9 17 14 12 13 7 4 7 6 10
3090 HHRERHAT 12 11 16 2 8 5 6 9 9 12
3100 EH R FEHET 12 12 14 11 5 10 11 7 6 5
3110 A ILET 17 17 22 22 17 7 11 10 10 17
9999 /\FHERXET 205 242 274 243 250 136 126 177 164 170
3510 27 _FHT 10 8 8 8 5 6 2 4 5 4
3520 £ R chfT 5 14 22 19 12 8 11 14 10 13
3530 &R THT 34 33 35 35 21 17 18 20 19 17
3540 =B KHT 12 18 20 17 11 15 7 4 9 12
3550 AEFHT 20 30 28 35 30 17 17 19 22 16
3560 = T B HET 11 8 14 8 9 10 7 1 9 6
3570 = T AT 22 36 42 39 26 21 21 20 21 23

3580 ¢ LLITHT 15 22 22 26 20 12 7 10 15 9
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TIRET (KF)2—K {TEHET (KF) 4
3590 EHT
9999 EHKXET
4010 41| N ET
4020 &S HT
4030 5HT
4040 S HEAHT
4050 7K EHT
4060 E=Z HHET
4070 JtJRHET
4080 =;T;HAMT
4090 S5 ERHT
4100 FFEFNHET
4110 JtFFOET
9999 &M XET
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4520 EREE — AT
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4550 EREE FFHT
4560 EREENEEHET
4570 EREE-HZFHET
4580 EREE)\ZHT
4590 EREE N FEHT
4600 EREE-+ZEHET
4610 EREE+—ZHT
4620 EREE+ —ZHHT
9999 ERERXET
5010 BRF0H £ HT
5020 BAF0BAELET
5030 FRFNREI{—HT
9999 AFIAXET
5510 b RHET
5520 = HhHET
5530 F4'= HT
5540 wy ZEmT
5550 EEHET
9999 =R X 5t
6010 [EHT/NEE
6020 [EHT 4
6030 FEBTA I
6040 i3 JFMET
6050 JI|EHATE
6060 JI|EHETF
9999 BEERXET
6510 B &= A#GHET
6520 HZEAKIEHET
6530 B E AFTHHET
6540 HERALLTHT
6550 B E A Z NET
6560 HRAIEILHET
6570 B EALERIHET
6580 HZAEHRT
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6600 B &= AT
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6 10
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

6610 HEA _LFEHT 2 3 2

6620 HZE AT 3 2 3

6630 HZEA T FMET 1 2 2

6640 B &= A EitslT 2 0 2

6650 HZASHET 0 0 0

6660 HZ A RLHET 3 1 2

9999 HEARKKXET 4 68 5 58 6 49 4 5 5 5
7010 Z B MO E 11 1 15 1

7020 — R AHT 12 10

7030 = R IRHNET 1 5 2

7040 — BT KEFHET 3 1 10

7050 — R ¥y H I ET 2

9999 — R&XEt 3 3 4 39 3 2 2 2 2 2
8011 IRAETFEHERLY 8

8012 RAETFHERA
8013 YR AHTFEER (&
8021 IRAHTIZEKLY
8022 IR AHTIEKA
8023 IR AHTIEKIL
8031 YAHETH ALY 1
8032 IRAHTHA A
8033 FAHETH AL
8041 IR AHTELIRL
8042 IR AHTELIRA
8043 IR AHTELIRIE
8044 IR AHTELIRIC
8045 IR AHTHLIR (X
8050 IRARTIR A
8060 YR ABTFTHA
8070 JRABTER
8080 MR AETHkHA
8090 IR AHTHEE
8100 JRAHBTH /1%
8110 IRAHTJII 5
8120 IR AHTER"
8130 YRAHETH L
8140 JRABIEEZEXT
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8150 IR AHBTEFRK L 9 3 9 5 4 8
9999 AKX 5T 71 82 81 77 72 40 28 68 42 65
9010 +THTAKEH 25 27 22 25 20 12 11 22 16 19
9020 FTHTHEA 17 20 18 13 16 7 9 12 7 10
9030 +THTH & H 32 35 35 38 24 16 13 24 24 24
9040 FTHTHEIH 41 32 45 44 40 30 24 44 26 32
9999 FT#XEt 115 114 120 120 100 65 57 102 73 85
9110 SRETTTH & 22 19 18 21 17 16 19 18 17 13
9120 SFETH L 11 11 13 10 7 5 6 7 6 5
9130 SFETH S 5 5 6 4 4 5 2 5 12 3
9140 $RAT T4 22 17 21 16 21 10 4 17 9 4
9150 $EHT L &5 17 15 26 13 20 14 12 12 16 8
9160 SRETERHT 27 13 26 34 29 19 20 23 19 16
9170 $RATNEA 32 32 22 39 32 21 16 27 21 27
9180 #RHTEE 16 19 22 24 16 16 16 16 17 14
9190 fRHETZ 0O 8 9 7 14 6 7 2 5 4 7

9200 $EHTEFIF 7 12 9 11 3 4 5 6 4 6
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TRET(KF)a—K {TEET(KFE)L 705 71% 72 73 74% 75 716k 71 718 79

9210 $EHET = H 12 13 18 15 6 8 4 15 6 6
9220 $EHT 7 H 22 14 24 17 16 10 8 8 17 22
9230 $EHTE M 17 25 33 22 26 14 12 19 5 12
9240 $EHETIEE 5 9 8 6 7 2 6 7 9 6
9250 % HT At #r b 14 15 8 18 13 10 5 8 7 10
9999 S XET 237 228 261 264 223 161 137 193 179 159
9310 E[FHET:AR 7 5 11 5 12 2 6 6 6 6
9320 H[SHETIL 5 15 10 8 11 9 6 8 6 4
9330 FH[SAT/INE 9 6 6 2 1 5 6 4 4 7
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1180 EE&FLHET 5 3 2 3 1 1 0 0 0 0
1190 ##F AHT 0 2 0 1 2 2 2 2 2 0
1200 XFHET—TH 1 1 2 0 1 2 0 0 1 0
1210 XFHEIZTH 3 2 1 1 1 2 0 1 1 0
1220 FrHT 2 2 1 2 0 0 0 0 0 0
1230 #xKHET 3 1 4 2 0 3 0 0 0 0
2 2 1 2 0 0 0 0 0 0
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